@< ! 5/8" @ button head/

W 6 x 25 post

TS 7x4x3/16

11/8" blockout

| —

21/2"
3/8"

11/8" ——

L 41/16"

N
41/16" W

/

7 5/8"

bolt (typ.)

W 6 x 25 post/

=

111 1/4" for 10" curb (1)
2'-1 1/4" for 8" curb @

g

| .
" Single element
" 6 3/8
61/8 / thrie beam@

FRONT VIEW SIDE VIEW

W 6 x 25 POST DETAILS FOR CURB MOUNTED POSTS

4"
|
| A
i .=\
| |
|
TOP VIEW _
(9
¢ ¢ ~
- R Y | !
O | | O
g :T'%I": g R [ 5/8" @ button head
el I I oy 1 bolt (typ.)
. ViR 1 Vio o 2
S VA @ /] 1= & =
L ' ‘ : L | | — )
™~ T ~ SR A =
0% i o/ L |
FRONT VIEW BACK VIEW SIDE VIEVV/\ Single element
thrie beam

TS 7 x4 x 3/16 BLOCKOUT DETAILS
FOR CURB MOUNTED POSTS

NOTES
@ Adjust the post length for thrie beam height above the deck.

@ Locations of bolt holes on base plate shall match locations of existing
anchor bolts.

(3) Al holes drilled or punched to 3/4" @.

@ See Standard Drawing E 706-BRTR-04 for thrie beam elements. See
Standard Drawing E 601-TBGC-01 for thrie beam rail section.

1|_0||
6" i 6"
- = -
178" | s14@) | 1778
|
2 |
)
— ! 5/16
| H+ ! 3/ 2x101/2
| | R3/4x12x101
<+
= @7 -
S TR
ol b 3|
- X
— J ™~—W 6 x 25 post
\ ny
= A
(o]
&
L |
1 |—(L of anchor bolts 3/4" @ min. on traffic side
(2)¢ of anchor bolts 5/8" @ min. bolt holes = bolt dia. +1/4" (2)

bolt holes = bolt dia. +1/8"

BASE PLATE DETAIL

INDIANA DEPARTMENT OF TRANSPORTATION

RETROFIT THRIE BEAM
BRIDGE RAILING TR
COMPONENTS

SEPTEMBER 2012

STANDARD DRAWING NO. E 706-BRTR-03

/s/ Richard L. Van Cleave  09/04/12

SUPERVISOR, ROADWAY STANDARDS DATE

/s/ Mark A. Miller 09/04/12

CHIEF ENGINEER DATE

AT




